Math 1B, Section 106 Your name: ZO'I{
Quiz 7, October 14, 2009

Please write your name on each sheet. Show your work clearly and in
order, including the intermediate steps in the solutions and the final answer.

1. (5 pt) Consider the series
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(a) Find the radius of convergence and the interval of convergence.
(b) Integrate the series to obtain a new series.

(c) Find the interval of convergence of the integrated series. (You may use
that this series has the same radius of convergence as the original series.)
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2. (5 pt) Find a power series representation (in terms of powers of x) of the

function 1+x
£(x) =1n(1 _X).

Determine the radius of convergence of the series.
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